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2
(&) What is meant by the term ‘limited liability’?
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[Total: 15]
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2 (a) Identify and describe three business activities which could be computerised in a business
such as Brookside Farm Limited (BFL).
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(b) Analyse the case for and against the computerisation of operations at BFL.

[Total: 15]
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(a) Define the term stakeholder.

(b) Complete the table below to identify why each of the following stakeholders would have an
interest in the performance of BFL.

State how each stakeholder would judge the performance of the business. One example has

already been completed for you. [10]
Stakeholder Interest How BFL is judged
Mary Collins Employee Wages

Steven Drummond

Suppliers of animal feed

Creditors

The local community

A competitor

(c) Discuss the extent of the influence of stakeholders on BFL.
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(d) Explain Simon Lewis’ position with regard to his decision not to reveal his involvement in a
cheese making farm.

[Total: 28]
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4  The building work for the bed and breakfast venture was financed by a loan repayable by annual
instalments of £10000 per annum. In addition, BFL budgeted to spend £5000 per annum on
advertising the bed and breakfast venture. BFL charges guests £30 per person per night. The

variable cost per guest consists of electricity, food and drink and works out at £4.50 per guest per
night. This information is summarised below:

Item £
Loan repayment 10000 per annum
Advertising 5000 per annum
Price charged 30 per guest per night
Variable cost 4.50 per guest per night

(a) Define the term fixed cost.

.............................................................................................................................................. [2]
(b) Assuming that each guest stays one night, calculate the number of guests needed in the first
year to break even on the bed and breakfast venture. [4]

Show your working:

Numberof guests = ... ennnn.
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(c) In 2007, the first year of operation, the number of guests was 450.

(i) Calculate the profit or loss made on the bed and breakfast venture. [2]

Show your working:

Profit/loss = ....coovveiiiii i,

(i) Sandra had expected to attract 650 guests in the first year. What is the variance on the
profit/loss from this venture? [2]

Show your working:

VarianCe = ...
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(d) For 2008, Sandra expects bookings to rise to 700, prices and costs remaining unchanged.

Calculate the:

(i) expected margin of safety in 2008; [1]

Show your working:

Margin of safety = ...,

(ii) expected profit/loss in 2008. [2]

Show your working:

Profit/losSs = ...ovveviii i
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(e) (i) On the graph below, illustrate the impact of a rise in the price charged by BFL for bed
and breakfast. [1]

Total Revenue

Total Cost
£A = Fixed Costs
+ Variable Costs

Fixed
Costs

|
No. of Guests

(i) State the consequence for the break even level.
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(f) (i) Onthe graph below, illustrate the impact of a rise in interest rates resulting in a rise in the
annual loan repayment made by BFL. [2]

Total Revenue

Total Cost
= Fixed Costs
+ Variable Costs

Fixed
Costs

-

No. of Guests

(i) State the consequence for the break even level.

[Total: 18]
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(@) Undertake a partial SWOT analysis for BFLs ice cream venture.

You should identify and describe three opportunities and three threats.

Opportunities Threats

Opportunity 1: Threat 1:

Descr Ip tlon ................................................... Desc r Iptlon ...................................................
Opportumtyz .............................................. Threatz .......................................................
Descr Ip non ................................................... Desc r lptlon ...................................................
Opportumtys .............................................. Threat3 .......................................................
Descr Ip tlon ................................................... Desc r Iptlon ...................................................
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(b) Evaluate the role of SWOT analysis in helping BFL to achieve its marketing objectives.

[Total: 24]
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If you use these lined pages you must write the question number next to your answer.
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